HC 434: Final Exam
Name: __________________________ 

Please confine your answers to the space provide and make sure to write legibly. Remember to show all work. There are a total of 210 points available on this exam. 

If you choose to type your answers in using a laptop, then do the following:
1. Download the exam at http://homework.uoregon.edu/pub/class/hc434/final08.doc
2. When you first open the exam, save it on your desktop with yourlastname as the filename

3. Type your answers in 

4. Save your exam often in case the battery runs out, or something

5. When finished – email the exam to uohomework@gmail.com
Each Question in this Section is worth 10 points:  Answer 8 out of 9:
1.   Why does water vapor act as the principal greenhouse gas in the Earth’s atmosphere?
2.   Describe some of the potential difficulties associated with the carbon market and the allocation of emissions in carbon emission space. 

3.  Explain the “wedge” approach to Carbon stabilization and provide examples of what practices or requirements are needed to secure one wedge.

4.  What is the best evidence that we are currently in a state of “Peak Oil”?
5.  Explain how the oceans are getting more acidic due to the increasing concentration of atmospheric CO2.
6.  Explain how the rapid loss of Summer Arctic sea ice affects the overall energy balance of the Earth.
7.  Explain why the Energy Policy Act of 2007 is overall very weak in its goals.
8.  Explain what Sam must do to avoid Ralph discovering the Iron Axe.
9.  Distill Cronon’s message down to a Bumper Sticker of 7 words or less.
Each question in this section is worth 15 points:  Answer 6 out of 7
10.  Explain what the two biggest sources of uncertainty are in our current physical modeling of the Earth’s climate system.
11.  Explain how Hubbert was able to accurately estimate when peak production of oil would occur in North America.  What factors enter into his formulism?
12.   Physically explain how the presence of a planetary atmosphere leads to a "greenhouse" effect

13.  Explain why, in the longer run (e.g. greater than 100 years) methane is likely to be the dominant greenhouse gas in the Earth's atmosphere

14.   Explain how a hierarchical world view naturally leads to humans treating nature as a consumable.
15. Argue for or against the following proposition: “Global Cooperation” is fundamentally against Human Nature.











16.  Detail some reasons why the detection of regional climate change is very difficult to reliably establish.



Last three questions worth 20 points each:  Answer 2 out of 3
17.  Outline the major differences in both framework and assumption that mark each of the 4 IPCC story lines.
18.  Explain what you think is currently missing in our economic models of climate change and why the current model(s) are largely inadequate.
19.  Explain how this course has increased your overall awareness and understanding of the current state of the world and its trajectory.

